

# PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

October 28, 2015

PIAC FILE # 6454-21

Ms. Kirsten Walli Board Secretary Ontario Energy Board Suite 2700 2300 Yonge Street 27<sup>th</sup> floor Toronto, ON M4P 1E4

VIA E-Mail 6 pages

Dear Ms. Walli:

Re:

Board File No. EB-2012-0383

Cost Allocation Policy for Unmetered Loads

Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

On behalf of the Vulnerable Energy Consumers Coalition (VECC) we have attached their cost claim with respect to the above-noted proceeding.

We have also served a copy on each licensed electricity distributor via email.

Yours truly,

Michael Janigan Counsel for VECC

Cc: Electricity Distributors

# Ontario Energy Board COST CLAIM FOR CONSULTATIONS



### Affidavit and Summary of Fees and Disbursements

This form should be used by a party (defined in the Practice Direction on Cost Awards as including a participant in a consultation process) in a consultation before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board Notice of Hearing for Cost Awards. Please ensure all required fields are filled in and the Affidavit portion is signed and sworn or affirmed.

			instructions	
		put is indicated by yellow-shaded fields	s. Formulas are present in the do	ocument to assist with the calculation of
the cost clai	1000			Frank Language
- All claims n	nust t	pe in Canadian dollars. If applicable, st	And the second s	
- A sonarato	"Stat	ement of Disbursements Being Claimed	Rate:	Country:
		"Statement of Fees Being Claimed" an		는 것을 하는 트립스트를 보고 10km 10km 10km 10km 10km 10km 10km 10km
		overing the whole of the party's cost cla	[200] 4 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m - 1 m	bursements
		nust be supported by a completed Affid		of the party.
		nsultant must be attached unless, for a	given consultant, a CV has beer	provided to the Board in another
		e last 24 months.		
- Except as p	provid	led in section 7.03 of the Practice Direction	ction on Cost Awards, itemized	receipts must be provided.
File # EB-	EB-	2012-0383	Process: Cost Allocati	on Policy for Unmetered Loads
Party:	VEC	cc	Affiant's Name:	
HST Number: 13059 2405 HST Rate Ontario:			Rate Ontario: 3.94%	
		5 11 5 1	0 111	
		Full Registrant	Qualityin	g Non-Profit
		Unregistered		Tax Exempt
		Other		
l,	117/03	Donna Brady	, of the City/Town of	Ottawa
in the Pro	vince			, swear or affirm that:
		ntative of the above-noted party (the "P		
		d all of the documentation in support o		
		eing Claimed", "Statement of Fees Being		es Being Claimed" and "Statement(s) of
				e purposes of the Party's participation in
the Ontario	Energ	zv Board process referred to above.		nat is an employee or officer of the Party
		ctions 6.05 and 6.09 of the Board's Prac		
		, 1		
	-			
Signature	of A	ffiant		
Sworn or	affir	med before me at the City/Town	of Ottawa	
in the Pro				N528-2015
iii tiic i io	VIIIC		, 011	(date)
				N725076
Commissi	oner	for taking Affidavits		

# Ontario Energy Board COST CLAIM FOR CONSULTATIONS



### Affidavit and Summary of Fees and Disbursements

File # EB- EB-2012-0383		Process: Cost Allocation Policy for Unmetered Loads
Party:	VECC	
	Summary	of Fees and Disbursements Being Claimed
Legal/con	sultant fees	\$4,042.50
Disbursements		\$0.00
HST		\$159.27
Total Cost	t Claim	\$4,201.77
		Payment Information
	Make cheque payable to:	Public Interest Advocacy Centre
Sen	d payment to this address:	1204-ONE Nicholas Street
		Ottawa, ON
		K1N 7B7
	Detail o	f Fees and Disbursements Being Claimed
		Statement of Fees Being Claimed
State	ment of Fees being claimed	I for Eligible Activity is found on the second tab of this workbook.

#### Statement(s) of Disbursements Being Claimed

Statement of Disbursements being claimed is found on the third tab of this workbook.

# Ontario Energy Board COST CLAIM FOR CONSULTATIONS Statement of Fees Being Claimed

File # EB- EB-2012-0383

Process Cost Allocation Policy for Unmetered Los

Party VECC

HST Rate: 4%

		Preparation for,	Preparation for,			
		attendance at and attendance at and	attendance at and			
		reporting on the	reporting on the			
		February 11, 2015	March 23, 2015			
		working group	working group			
		meeting	meeting			
		Eligible	Eligible			
		Participant	Participant			
Individual Whose Fees are Being						
Claimed	Hourly rate	Up to 10 hours	Up to 10 hours	Subtotal	HST	Total
Bill Harper	\$330.00	5.75	6.50	6.50 \$4,042.50	\$159.27	\$159.27 \$4,201.77
				\$0.00	\$0.00	\$0.00
				\$0.00	\$0.00	\$0.00
				\$0.00	\$0.00	\$0.00
				\$0.00	\$0.00	\$0.00

\$4,042.50 \$159.27

Totals:

Total legal/consultant fees: \$4,201.77

1 of 1

# Ontario Energy Board COST CLAIM FOR CONSULTATIONS



# Affidavit and Summary of Fees and Disbursements

## Individual Whose Costs are Being Claimed

Name: Bill Harper		
Counsel/Articling Student/Paralegal: Analyst/Consultant: CV attached:	Year Called to Bar  CV not required:	Completed Years Practicing/Years of Relevant Experience 35
Name:		Completed Versa
Counsel/Articling Student/Paralegal: Analyst/Consultant:	Year Called to Bar	Completed Years Practicing/Years of relevant experience
CV attached:	CV not required:	
Name:		Completed Years
Counsel/Articling Student/Paralegal: Analyst/Consultant:	Year Called to Bar	Practicing/Years of relevant experience
CV attached:	CV not required:	
Name:  Counsel/Articling Student/Paralegal:	Year Called to Bar	Completed Years Practicing/Years of relevant experience
Analyst/Consultant:  CV attached:	CV not required:	П
CV attaclieu.	 ov not required.	
Name:	Year Called to Bar	Completed Years Practicing/Years of relevant
Counsel/Articling Student/Paralegal: Analyst/Consultant:	to bai	experience
CV attached:	CV not required:	

### **Econalysis Consulting Services**

34 King St East Suite 630 Toronto, Ontario M5C 2X8

# **Statement of Costs**

Date	File#
19/10/2015	2015061

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.
Net 30	EB-2012-0383

#### Project

#### OEB 2012 UL CA WG

Serviced	Item	Description	Hours	Rate	Amount
24/10/2014	Other Conf. Preparation	Prep for call with Navigant re: SL CA	0.75	330.00	247.50
24/10/2014	Other Conf. Attendance	Call with Navigant re: SL CA	1	330.00	330.00
10/02/2015	Other Conf. Preparation	Prep for WG meeting with Navigant	1	330.00	330.00
11/02/2015	Other Conf. Attendance	Attend Unmetered Load CA Work Group mtg	3	330.00	990.00
05/03/2015	Other Conf. Preparation	Review Navigant materials prior to conference call with Trent	0.75	330.00	247.50
06/03/2015	Other Conf. Attendance	Conference call with Trent (Navigant) re Proposals	0.25	330.00	82.50
23/03/2015	Other Conf. Attendance	WG conferende call re Street Lighting results	1.5	330.00	495.00
10/04/2015	Other Conf. Preparation	Prepare comments on Navigant draft report	4	330.00	1,320.00
		Subtotal HST on Sales		13.00%	4,042.50 525.53

HST #10160 6028	\$525.53
Total	\$4,568.03